

$$t_n = 5, 9, 13, 17$$

$\xrightarrow{+4}$ $\xrightarrow{+4}$

$$t_n = 4n + 1 \checkmark$$

$$t_{10} = 4 \times 10 + 1 = 41 \checkmark$$

(الف)

(ب)

(۲)

۱

$$t_n = 9, 10, 14, 17$$

$\xrightarrow{+4}$ $\xrightarrow{+4}$ $\xrightarrow{+4}$

$$t_n = 4n + 2$$

(الف) $S_{10} = \frac{10}{2} (4 + 9 + 9 \times 4) = 5 \times 41 = 205 \checkmark$

(ب) $1 \times 4 = 4$ $t_{44} = 4 \times 44 + 2 = 178$
 $32 - 2 = 30$ $t_{30} = 4 \times 30 + 2 = 122$

$$2 \left(\frac{178 + 122}{2} \right) = 494 \checkmark$$

(۲)

۲

$$1 + \sqrt{3}, 2, 3 - \sqrt{3}$$

$\xrightarrow{-1-\sqrt{3}}$ $\xrightarrow{-1-\sqrt{3}}$

$$\Rightarrow d = 1 - \sqrt{3}$$

$$t_{20} - t_{17} = 2d = 2 - 2\sqrt{3} \checkmark$$

(۲)

۳

$$2^x, 2 \times 0, 0^y$$

$\xrightarrow{+2 \times 0^{2n}}$ $\xrightarrow{+2 \times 0^{2n}}$

$$2^x + 2 \times 0^{2n} = 0^y$$

$$0 \times 0^{2n} = 0^y = 0^{2n+1}$$

۳ = ۰^y خواسته سوال!

$$2^{2n+1} = 4 - 2^1 \Rightarrow$$

$$2^{2n} = 2 \Rightarrow 2n = 1 \checkmark \Rightarrow y = 3$$

$$\frac{x+y}{2} = 2 \Rightarrow x+y = 4 \Rightarrow y = 4-x$$

(۱،۷۵)

۴

$$t_4 \rightarrow t_1 = t_2 + t_3$$

$$2n - 2 + t_4 = 2n - 1 + 4n$$

$$d = 2n - 1 - (2n - 2) \Rightarrow$$

$$t_4 = 1n - 1 - (2n - 2)$$

$$d = 3$$

$$t_4 = 4n + 3 = 2 + 3 = 5 \checkmark$$

$$2n - 1 + 3 = 4n$$

$$n = \frac{1}{2} \checkmark$$

(۲)

۵

$$\frac{r_0 \cdot 0 + 1 \cdot 1}{r}$$

$$\frac{r_0 \cdot 0 + v}{r}$$

$$t_n = q_{n-1}$$

$$a_{n_0} = r_1$$

$$q_{n-1} \leq r_1 \Rightarrow q_n \leq r_1 \Rightarrow n \leq v \quad \checkmark \text{ } \leftarrow \text{ } d \leq v$$

$$a_r = \frac{r_1}{r} = v \Rightarrow a_1 + a_r = 1f$$

$$a_1 + a_r + a_0 = 1 \cdot 0 \Rightarrow a_0 = 0 \quad d = \frac{q_1 + v}{0 - r} = \frac{1f}{r} = r_1$$

$$a_1 = a_r - d = -r_1$$

$$a_r = a_r + d = r_0$$

$$\frac{a_r - a_1 + a_1}{a_1} = \frac{r_0 - v - r_1}{-r_1} = -\frac{1}{r} \quad \checkmark$$

$$a_1 + a_r + a_r = 1 \cdot 0 \Rightarrow a_r = 0$$

$$a_r + a_0 = r_0$$

$$r_0 a_r + 0 d = r_0 \Rightarrow 0 d = 1 \cdot 0$$

$$d = r$$

$$a_{10} = a_r + 1d = 0 + r_1 = r_1 \quad \checkmark$$

$$9a_1 + r_1 d = r_1 v a_1 + r_1 v d$$

$$9d = 11a_1 \Rightarrow d = r_1 a_1$$

$$\frac{a_r}{a_v} = \frac{a_1 + r_1 a_1}{a_1 + 11a_1} = \frac{r_1 a_1}{12a_1} = r \quad \checkmark$$

$$d = \frac{r_0 - 11}{v - 1} = \frac{r_1}{9} = r$$

$$a_r = 11 + 11r = r_1$$

$$d_B = \frac{r_1 - r_1}{r - 1} = \frac{1 \cdot 0}{r} = -0 \quad \checkmark$$

$$-0 = \frac{r_1 - r_1}{k+1} \Rightarrow k+1 = 0$$

$$k = 1, r$$

$$k = r \quad \checkmark$$